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023 :ll! Semester B.Com. Examlnatlon, Apri!/May 2
(NEP Scheme)
COMMERCE

Paper - 3.3 (DSC) : Cost Accountlng

q\.:.

i

LX

Time:2'lz Hours Max. Marks:60

lnstruction : All the answers to be wriften in English or in Kannada.

SECTION - A
Answer any llve questions out of seven questions : (5x2=10)

1. a) What are the elements of cost ?
b) What is a cost centre ?
c) What is piece rate system ?
d) Write four examples for administrative overheads.
e) What is Reconciliation Statement ?
l) Name any 4 methods of pricing materials issues.
g) Give the meaning of machine hour rate.

SECTION - B

Answer any three questions out ol five questions : (3x4=12)

2. Write any four ditferences between cost accounting and financial accounting.

3. Calculate the Economic Order Quantity from the following information. Also
state the number of orders to be placed in a year.
Annual consumption 20,000 kgs
Cost of placing one order { 40
Cost per kg of materials t 4
Storage cost = 87" of average inventory.

4. A worker's wages lor a guaranteed 44 hrs a week is t 10 per hour. The
estimated time to produce one article is 36 minutes. During the first week he
produced 100 articles.
Calculate the earnings of the worker under
a) Time rate b) Halsey plan c) Rowan plan.

5. Prepare a Stores Ledger from the following transaction adoptlng the FIFO
method of priclng out issues :

2023 March
1.t - Opening balance 200 units at t 2.00 per unlt
2nd - Purchased 600 unlte @ ? 3,00 per unlt
6th - lssued to productlon 600 unlts p.r.o.
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12h - Purchased 400 units at ? 3.40 per unit
22s. - lssued 300 units
26r' - Purchased 500 units at t 3.50 per unit
30tr' - lssued 200 units.

6. The modern company is having lour departments. A, B and C are production

departments and D is the service department. The actual cost of the period
w6re as follows :

2,000
900

3,000
1,000

Rent
Depreciation
Supervision
lnsurance on stock

The following data are also available in respect of the four departments.
Productlon Dept. Servlce Dept.

ABCD
Area in sq. ft. 150 1 10 90 50
No. of workers 24 16 12 8
Totalwagee (() 8,000 6,000 4,000 2,000
Value of plant (t) 24,000 18,000 12,000 6,000
Value of etock (() 15,000 9,000 6,000

Apportlon the costa to varlous departmenta ln most equllable baala,

SECTION - C

Answer any three questions out of five questions : (3x10=30)

7. The following expenses were incurred during the year ended 30-12-2022:
t

Direct materials - 5,000
Direct wages - 3,000
Chargeable expenses - 2,000
Factory overhead - 3,000
Administrative overhead - 4,000
Selling and distribution overhead - 3,000
Selling price - 25,000
You are required to prepare statement showing the profit earned for the year
2022 and an estimated price of a work which is to be executed in the year 2023.
Materials, wages and chargeable expenses will be { 8,000, t 10,000 and
t 2,000 respectively forlheyear2023. The various overheads will be recovered
on the following basis :

a) Factory overhead as on a percentage of direct wages.
b) Administrative overhead, selling and distribution overhead as a percentage

on factory cost.
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8. Calculate the earnings of the worker under Taylor's plan.

Timerate-(3perhour
Standard output 6 units per hour

Ditferential rate:
Lower piece rate @ 80% of normal piece rate

High piece rale @ 12Oo/o of normal piece rate

ln a day ol 8 hrs

A produces - 39 units

B produces - 45 units

C produces - 48 units

D produces - 50 units.

9. You are supplied with the following information and required to workout th€
produciion hour rate of recovery of overhead A, B and C under
Repeated distribution or Simultaneous equatlon method.

Produatlon Dcpt. Scrulcc Dcpt.
ABCPO

Prlmary overh€eda 7,810 12,549 4,547 4,000 2,600
Expenses of Eerulce dept. P and Q are Epportloned a8 under :

ABCPO
Service Dept. 'P' 307o 4OVo 2Oo/" - 107o

Service Dept.'Q' 10o/o 20o/o 5O/o 20/o

Estimated working hours of production are as under :

DepartmentA - 1000hours

DepartmentB - 2500hours

DepartmentC - 1400hours.

10. Compute the machine hour rate from the following :

Cost of machine - 2,00,000
lnstallation charges - 20,000
Estimated scrap value after the expiry ol its life of 15 years < 10,000
Rent for the shop per month - < 4000
General lighting for the shop per month - < 600
lnsurance premium lor the machine p.a.- < 1,920
Repair expenses p.a. t 2,000
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Power 10 units per hour
Rate of power per 100 units { 40
Estimated working hours p.a. - 2,000
Shop supervision salary per month - t 1,200

The machine occupies l/+th of the total area of the shop, the supervisor devotes

/3d of his time to this machine.

11. From the following figures prepare a Reconciliation Statement and determine
financial profit.

66,760
5,700
4,250
3,660
3,950

450
600
230
420
860

1,200

SECTION - D

Answer any one question :

12. A) ldentify cost unit for a given industry.
lndustry
Cement
Automobile
Biscuit
Hospital
Soft drink
Gas
Transport
Electricity.

OR

B) Draft a specimen copy of Material Return Note.

(1x8=8)

Net profit as per costing books
Factory overhead under-recovered in costing
Administrative overhead recovered in excess
Depreciation charged in financial books
Depreciation recovered in costing
lnterest received but not included in costing
lncome tax provided in financial books
Bank interest credited in financial books
Stores adjustment (credited in financial books)
Depreciation of furniture charged in financial accounts
Dividends apportioned in Iinancial accounts
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dqdsd.S
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D$b €,E4ri9o_o$D{oaddo ad: {,dnderl srudotro : (5x2=10)

1. a) de{p eodrlst olDdd ?

b) d{deo{, oodded: ?

c) d:od: dd dg.g aoddeab r
d) eideo{d abeo:da!fled oaqeruoadd# dJaa,

e) dooaardd d{aodde& r
f) oaq$ A&dddoeierr eJei &CrOBs) .acbd 4 eeDdrl9dJ4.getJ.

S) odJog rlot3odr dd ooddeib r
OlFrl-s)

od: E,d4ddqolJDdoEddra d)Jrcb €,d*rled erugorr : (3x4=12)

2. dzld 0saFo$ *rq-t d:d: drarair: ertuD$Prl.ad:d oaqdrordrlddrn
SoEdEDR 998).

3. dqnd eddrl$d:n ud&droodr E.O,Q, (erQrd !,d:d {,dneo)dQ dodrbaoo:o.
aario3:e t od: ddrdO-dndsierod crdedrl9 noa3,o3:d:n eem.
m&rrd ?r$d 20,000 dd.
uod: ededdd: oede)) grted dz* ( 40
d&ad de, d,e ddd < 4
no{,dro d4, = ioolo oaxapd 8%.

4. r"Du rra)Fd uod> aoddo- 44 rlot3rl9 derido edd dra0otu t 1 0 dod t od: rloo3il

&A,jddJRd. r.od: dooSrd en:aoddoS: eouJDDo ,$o$d) 36 0tudrl$rDn&dd.
d.odo aaddO- sd$ 1 00 doa{rrl9Q dohox,&ed.
roturdd $6Jaoo$db.(
a) ndro$dd
b) aaeS^dd.9

c) doedaf o3oetidoi:60$O- eido drra.
5. dddod dDbeo$od FIFO aqJaddo-ndd: oaed: aodabd:ndo3noa :

2023 dJrstr
1 - erdotpd 0q200 oJ)ra&ttrrlcb €,e o$.,aOt d t 2,00 dod

2 - sDOeAA)d)^600 olrdo[,rrlcb 4,.9 ol)raptfd t 3.00 dod

6 - eiuodJd"Goo olrrdottrrldoc12 - sDoea:rd)^ 400 oi,aourrlgr d.9 oi.,ae8rl t 3.40 dod
o22 - dodd 300 o$Jo&t il$r

28 - sDoeoBrd)o600 o$,aCItfrlgJ d,,3 o$.,Dp[,trd t 3,50 dod
g0 - BorEt 200 6*l,Dpuril$.



DcBc - 303 -o- llffiflillilll$llllfllfllilllll]

6. dodo"r dodpoj:: daq eqDdtrd$" dooadJ. A, B d)Al C .aCrl$ err:uo.d6n

oqadrl$ dlQ D ieaa dtprlond. Srod del €r edQd dr dddodod ed;{d :

r,oail
Bdd9
dreO;odd
ndrd ed)

d,ddd*nd$rlC)
d,dd*doO
aQi?rd)6ad dqfl$)
uosyJrd d:ee3g^l

erde@{d d:eei;^l
dncou d;d) &ddra d:eei?3r d z.J

dnot^l ejei

t
2,000

900
3,000
1,000

Faq e?prlrl9Ii iouoQr,)dod dgnd dD6ogrl9dl oedennd.
. uucardsarFrl

ABC
{,ded ddd earl$o_ 150 110 90
rrturdd io4 24 16 12

LLD.j dedd (() 8,000 6,000 4,000
oi:o$d #er, (t) 24,000 18,000 12,000
,dcd #e6 (() 15,000 9,000 6,000

ooC orpdrleil dtjdrr$4d/0!od upddQ, dotld dria.

Dt.,l-l
od: {,d*rl9Q.o$admddo *Jrd, d,r.{rieil qrugOl :

7, €r dddod drtld, 30-12-2022 d dmrodrfo dr$Od :

iemaerDrl
D

50
8

2,000
6,000

(3x10130)

t
5,000
3,000
2,000
3,000
4,000
3,000

25,000

ped dee8o$dl&ddarDd srt% ad) 2022 de ddrdo de$d eDqJddl dod)bao$o
a$dl 2023 de ddrf,o uod; o3oeeido$ sorJdtJd enqJddtr dod>b&oo:o.
2023 de ddrf,idd:rl$:, doO d>Q aQi?Jdr6?d dqfs d,dlmn { 8,OOO,

{ 10,000 d)d: { 2,000 erhd:dd.
qdd aeC dqjd$&4* ddnd ereDdd abeeJ ecocrdieroAd :

a) roanrdo$ d:eei;{;lrt €,ddd",d.,a0o$ d:eej dedmaad: erRd.

b) udea{€ &e"1?*, $Doar.i d:dJ add6o $eei;^f aaord abed*z{d dedmmd>
erR$dd.
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8. dddod &ddrlgod Eerirodd dpfo$$4 rieerdd &pddo_ dod)&Ao$o.
nd:o!dd -T3r.od:rlot3d
06rd eruaodd- 6 ol:oOn,trrlet e.odJ rlotid.J CJ

eeQ $od: ddrl$: :

xad>d, d:od: ddd80% dBd> &od> dd
xadnd, d:odr ddd 120% daljJ d:od> dd
r.od:6ddo8 dodd$od
A erDdJarrcb - 39 ol]oautrdsbqJO

B eruaJa3)cb - 45 o$Jaotrdq)co
c @@6$d) - 48 orJaol,trrl$bco
D erDeDarrd) - 50 ol)Joot rlcb.co

9. ddod,gFd dozJd ddg cdd? adEro(d ia:eddea ddogolq A, B drdl C errprtrtd

{,,9 rlodol: uuuaduo ddddi tCd &eAdJd dD&.3ooJod dod)&Ao$o.
srDcdsorp,l ,csstprl

ABCPO
ilgdo)d dledg{ 7,810 12,549 4,547 4,000 2,800

P S+ Q lco o?rDrlrlgrt * Cddodod dorlt d:ado$d: :

ABCPQ
,(dD Orprl 'P' 30o/o 40o/o 20oh - 10%

Seuo Otyorl'Q' 10o/o 20o/o 50o/o 20Vo

erurrdur atPdd comEo doid id:od: * dCdodo.9d :

aFDrlA - 1000rlos3rl$r

esiDrlB - 2500dot3dst
arpadC - 1400rlodrl$;.

10. fgnd dD&.go$od od:o$d {,e dotjoi: ddd&*dodr&Eobo :

od:o$d dq - 2,00,000

xa*duo d:erorl$: - 20,000

15 ddrrlg aea@dQob dr:nd dodd o!o$d d::$d:el dDer, { 10,000

$gdo$ {,.3.10119 eDari < 4,000

ilerio$ {,.9.30119 xad>d, LJ$Jtd dqt 600

o$o$d edn dod: m&Fd t 1,920

&d,tr dltdD"hrd { 2,000

ed:dd Eg rJdf 4,.3 rlot3d 10 odrro0trrl$b

{,9100 oJ]Jaoutrrlg a&dd dqo! dd t 40
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erooauo rooJ:rd udQ 2,000 ddrdo
d)9dod) d:eo*zoddd iot^:$ dnad t 1,200

d>edd: uuu,, oeddo-o$ogd 7+ d& rsrld&4 ugarnd. oJ:o$d a3oeo;rad#d

d:eogadd& /e de" n$o$d&.r tueiot 3.,d$.

11. dcind eddrieod doooedd eidF6b4 dqlDoa. deoaaxb dd.-{d 4rod eJaqiddtr

dod:&8o3.:0 :

d6.OearoJ:enn- eiddod Doo&d erogl?J- C d

datpsaro$urtei-d6ddddO-rosrord&eer:dalf $d:*dadbeidd
dDad)dd)
sded 0drdr'6r1 d:eerdalpdl cQdDR eJdi il)a&dd)
dsar Brd a:ad ${dd{ dd:oArrd idte
dqp{ Odddq ddr.,aarrd:d idde
Dq Doad)o erdd dearDlD d{ddO-*eonodrd Dq
dearaB: ddddo-d&JaaAdJd (,mo$ god

dearai: ${ddqdd.do dridrd.ooadrd Eqotd $ao
deamB: OdddO_dDa$d msaab dnoaas6d
dearaB; C{ddO_door,d:d aedoedddra d:eOd BddP

AqJdrJ d oqro od d earoi.: ua{dO_ dn$ dorlsdr)&C d)

oq:Dil - a
obdtoaddo t od: {,dnod:Q e,Ddo$ :

12. A) draqd)d wdrd:do dqdd,rrdd$4rb$g&.
wdral:
B)abotf
utSoedodref
^.\J'r-LJ^II:aJtr
u{P,
go€mPeod)

(,De)

xDorl

edJrd.

t
66,760
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5,700
4,250
3,660
3,950

450
600
230
420
860

1,200

(1x8=8)

qrS6$

B) nd$ aroarrrDo dseooi) dndood:Q udooro.
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